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Question Paper Code : C 1714

/B Tech, DEGREE EXAMINATION, APRILAMAY 2010,
Annval Pattern - First Yoar
Computer Scionce and Engincoring
EE 1X11 — ELECTRICAL ENGINEERING
(Common to Information Technology)

(Regulation 2004)

Time : Three hours Masimum : 100 marks

10.

Answer ALL questions
PART A — (10 x2 = 20 marks)

State Kirchhoffs lows

Derive the xool mean square value for a sinusoidal wave.

What is meant by cooflicent of coupling?

Define reluctance of a magnetie circut

Wite down the condition for the maximur efficiency of a transformer
Draw the cireuit model of a DC machine

State any two applications of induction mator

Virite down the EMF equation foran alternator

Mention the advantages and disadvantages of open loop contral,

Define transfer function of & system.
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PART B —

X1

50 marks)

Find the value of R for maximum poser transfer and also caleulate the

i power orthe ot given below a6
Pl o
i
I oo
i 2 b o
or

A series RLC cirenit has resistance 5 ahms, inductance 1 ahm and a
capacitance C Farad. Find the value of C so that the current in the cizeuit
is maximum at 5 kHz. If the supply voltage is 200V, find the current, at

this frequency. as)

Derive an expression for the ampere-turns required for a simple and

compasito magrtic circuit. as)
or

@ Explain the cancept of clectromagnetic force with the help of

relovant rulos. ®

i) Discuss various losses present in a magnetic material. ®

Esplain with help of diagram, how a DC generator works, Why is

commutator used in it? an
or

Explain the principle of operation of transformer. What are its
applications? as)
A 2-pole, three phase 5011z star connected synchronous machine has 42
Stator slots. Each slot has two conductors in a double layer winding The
coll pitch s of 17 slots, vach phse has Lwo parallel paths. Caleulate the
3/ pole needed to generate a line voltage of 23KV, as)

or

A 400V, thoee phase, 6-pole induction motor draws a line current of 504
at 075 power factor and 4% slip. The efficiency is given as §3%. Caleulate

the shaft output and shafl torque. as)
Derive a transfer function of a field contralled DC mator. ae)
or

Determine the time response of a first order system when the inpt is
unit step. a6
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